Vereinfachende Polynome

Name: Datum: Ergebnis: __
=20+ 6° = 3(6x° — %) 409 + 3x%) + 2% — 8 + 7x?
Sx+ x>+ 4(5x2 + x3) +8x° 7 + 8% + 8x + 6x° + 5x°
4% — 2% — 3x — 4(8x — 2x) X+ 9% — 5% + 3(4x + 2x%)
6x° + 7% + 2% + 3(:% + 2x) 2(4x° — 8x)+3x° — 9% + 7x?
Ox + 2x — 3x* — 3x — 6x° 560 — 70 +3x° + 8x — &
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Vereinfachende Polynome

Name:

X2 = 2x+6x° — 3(6x° — x)
—12x° + % +x

Sx+x° +4(5x2 +x3)+ 8x°
13x° + 2027 + 5x

4x3 — 2x° — 3x — 4(8x — 2x)
2 — 27x

6x% + T + 26 + 3(x% + 2x)

1832 + 6x

Ox + 2x — 3x% — 3x — 6x2
—0x% + 8x

Datum: Ergebnis:

49x° + 3x3) + 20 — 8x% + Tx?
500° — X2

Tx® + 8% + 8x + 6x° + 5x°
11x° + 152 + 8x

X+ 9% — 5% + 3(4x + 2x%)
—4x3 + 15 + 12x

2(4x> — 8x) + 3x° — 9x° + T2
20 + T — 16x

50 — 77 + 3% + 8x — 8&x°

7> + 8x
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